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 Kindly.read and write the answer-
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There are two types of network architecture as listed below:

Peer-to-Peer cually up to 10 computers

{ i ent, u
This type of network architecture is suitable for a small envuror?r.ﬂ - computers must have
Each computer connected over the network has equal capability.

i i e or share the available resources.
. central server. That

: : inistrator Of
In Peer-to-Peer network, there is no dedicated network adm is easy'1o set &

: is network
means all the computers can act as a server or a client as well. This

and inexpensive.

# Fig. 1.9 Peer-to-Peer model

Client-Server

There is no limit to the number of computers in
this network. Here, all the computers are called
clients. These computers are linked to the main

computer which is called the server.

A server in a network is a computer that controls
all the connected computers, shared devices,

and other resources, It holds responsibility for
rendering services to the clients, whereas a

client is a computer or workstation that requests

services, like data storage and retrieval from
ﬂ the server,
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It is necessary that the computers to be connected must have access to the same network
sharing resources. Let us learn how a network is created. To understand this, first you need to
know about its topology.

Network topology refers to the schematic description of the different nodes in a network.
It determines how data flows within a network, irrespective of its physical structure. The most
commonly known network topologies are:

Point-to-Point (PTP) Topology “

It is the simplest and the most conventional model of topology. In this topology, two nodes
are directly linked to each other. For example, a computer system is directly connected to a
printer. In this network, a dedicated link is formed between two devices, i.e. a sender and a
receiver. It is faster and more reliable, for there is a direct connection between the devices.

This network can only be used for small areas.

4 Fig. 1.11 Point-to-Point topology

Bus Topology “©

In this type of topology, all the devices are connected to a linear cable called bus or trunk.
The bus acts as a backbone of this network. This topology is the simplest way to connect
multiple users. It uses ethernet for the connections. This network is easy and inexpensive to
implement for small networks. In bus topology, one of the computers in the network typically
acts as a server. The advantage of this network is that if one computer system breaks down,
it does not affect the other systems over the network.

# Fig. 1.12 Bus topology





There are two types of network architecture-(a) peer to peer   (b) Client-Server

In peer to peer architecture two or more computers are directly connected to each other.There is no central device.This is a type of non dedicated network .In client server architecture there is a central device called 
Servers and computers are connected to this servers.Those computers which are connected to servers are called

Nodes or clients..Topology is the physical arrangement of computers in a network.Bus topology got it name 
Bus as its structure was just like a bus.In bus topology there runs a single wire in whicj computers are connected.

Answer the following question-

(1) Write and explain peer to peer architecture  with diagram.
(2) Write and explain client server architecture with diagram.
(3) What is topology ?

(4) What is point to point topology ?

(5) What is bus topology ?

